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N.B. 1)All questions are compulsory.
2) Draw neat diagrams wherever necessary.
3) Figures to the right indicate full marks.

Q. 1) Attempt any two. (15)
A)  Explain the long run equilibrium of a firm under monopoly.
B) Examine the Kinky demand curve in oligopoly.
C) If perfectly competitive market price is 9 Rs., then from the following table,
calculate Marginal Cost, Marginal Revenue and Total Revenue.

Output (Units) 1 2 3 4
Total costs (Rs.) 20 25 31 40
Q. 2) Attempt any two. (15)

A) What are the conditions of price discrimination?
B) Write the meaning of Marginal Cost Pricing method and explain its advantages.
C) Calculate the mark-up, if the price of the product is 500 Rs. and cost is Rs. 300.

Q. 3) Attempt any two. (15)
A) Describe market failures and different types of inefficiencies in the market.
B) Define market failures and examine the concept of externalities.
C) Explain the role of government in state’s economic development.

Q. 4) Attempt any two. (15)

A) Explain the stages of capital budgeting.
B) What are the advantages and disadvantages of Internal rate of return method.
C) Calculate the Pay-back period of the following projects and choose the best project.

Project Initial investment Annual cash inflow | Pay back period

Rs. lacs Rs. lacs

A 200 5

B 400 100

C 50 25

D 25 25

= 500 100

F 60 10

Q.5 A) State whether following statements are true or false with reasons. (any four) (8 )

1) Legal protection is a source of monopoly power.

2) There is only one seller under monopolistic competitive market.
3) Dumping is international price discrimination.

4) Full cost pricing method has certain limitations.

5) Information asymmetry causes market failure.

6) Public goods are excludable. :
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7) Capital budgeting decision affects profitability of firms.
8) Capital budgeting faces many problems

B) Select the correct answer from the alternatives given and rewrite the answer. (any seven) -

1) Demand curve under perfect competition is

a) perfectly elastic b) unitary inelastic c) Perfectly inelastic
2) _____increases the sales of the product.

a) Production cost b) Normal Profit c) Selling cost
3)In__ market price is rigid.

a) Oligopoly b) Monopoly c) Perfect competition
4) has proposed three degrees of price discrimination.

a)A. C. Pigou b) Amartya Sen c) Alfred Marshall

5) The act of selling same article at different prices to different buyers ig
a) Price discrimination b) Product discrimination c) Trade Discrimination
6) Inthe income tax scheme, under the standard deduction, the government gives

greater concession to females then males. This is an example of - aiee
discrimination.
a) Utility b) Age c) Sex
7) ____is afeature of public good.
a) Non rival b) Excludable ¢) Rival
8) Distribution of goods and services according to consumers preferences
means :
a)Allocative efficiency b) Productive efficiency ) Productive inefficiencies.
9) Sub optimal combination of input to acquire output means
a) Productive efficiency b) Productive inefficiency ¢) Allocative efficiency
10) A project is not acceptable when : “Internal rate of return is - market
interest rate."
a) > b) < c)=
11) When Net present value is —then the project is not acceptable.
a) Negative b) Positive c) Zero

12) Future value means S
a) discounted value of cash flows.
b) compounded value of present cash flow.
¢) interest earned on future cash flows.
0-0-0
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